Jui-Chi Huang On common fixed points of asymptotically nonexpansive mappings in the intermediate sense

Czechoslovak Mathematical Journal, Vol. 54 (2004), No. 4, 1055-1063

Persistent URL: http://dml.cz/dmlcz/127950

Terms of use:

© Institute of Mathematics AS CR, 2004

Institute of Mathematics of the Czech Academy of Sciences provides access to digitized documents strictly for personal use. Each copy of any part of this document must contain these *Terms of use*.



This document has been digitized, optimized for electronic delivery and stamped with digital signature within the project *DML-CZ: The Czech Digital Mathematics Library* http://dml.cz

ON COMMON FIXED POINTS OF ASYMPTOTICALLY NONEXPANSIVE MAPPINGS IN THE INTERMEDIATE SENSE

JUI-CHI HUANG, Taipei

(Received March 3, 2002)

Abstract. Some strong convergence theorems of common fixed points of asymptotically nonexpansive mappings in the intermediate sense are obtained. The results presented in this paper improve and extend the corresponding results in Huang, Khan and Takahashi, Chang, Schu, and Rhoades.

Keywords: common fixed point, iteration, asymptotically nonexpansive mapping in the intermediate sense, uniformly convex Banach space

MSC 2000: 47H10

1. INTRODUCTION

Let C be a nonempty closed convex subset of a Banach space E. Let T be a mapping of C into itself and let F(T) denote the set of fixed points of T. Then T is said to be asymptotically nonexpansive with a sequence $\{k_n\}_{n=1}^{\infty}$ [3] if $k_n \in [1, \infty)$ with $\lim_{n \to \infty} k_n = 1$ are such that

(1.1)
$$||T^n x - T^n y|| \leq k_n ||x - y||$$

for all $x, y \in C$ and $n \in \mathbb{N}$. The weaker definition (cf. [5]) requires that

(1.2)
$$\limsup_{n \to \infty} \sup_{y \in C} (\|T^n x - T^n y\| - \|x - y\|) \leq 0$$

for every $x \in C$, and that T^N be continuous for some $N \ge 1$. Consider a definition somewhere between these two: T is called *asymptotically nonexpansive in the*

This research was supported by the National Science Council of the Republic of China, Project No. 91-2115-M-149-001.

intermediate sense [1] if T is uniformly continuous and

(1.3)
$$\limsup_{n \to \infty} \sup_{x,y \in C} (\|T^n x - T^n y\| - \|x - y\|) \le 0.$$

It is known [5] that if E is a uniformly convex Banach space and T is a selfmapping of a bounded closed convex subset C of E which is asymptotically nonexpansive in the intermeditae sense, then $F(T) \neq \emptyset$.

Recently, for each given mapping $T_j: C \to C, j = 1, 2, ..., r$, Huang [4] considered the following iteration scheme with errors in the sense of [12] generated by T_1, T_2, \ldots, T_r as follows: let $U_{n(0)} = I$, where I is the identity mapping,

$$U_{n(1)} = a_{n(1)}I + b_{n(1)}T_1^n U_{n(0)} + c_{n(1)}u_{n(1)},$$

$$U_{n(2)} = a_{n(2)}I + b_{n(2)}T_2^n U_{n(1)} + c_{n(2)}u_{n(2)},$$
(1.4)
$$\vdots$$

$$U_{n(r)} = a_{n(r)}I + b_{n(r)}T_r^n U_{n(r-1)} + c_{n(r)}u_{n(r)},$$

$$x_1 \in C, \ x_{n+1} = a_{n(r)}x_n + b_{n(r)}T_r^n U_{n(r-1)}x_n + c_{n(r)}u_{n(r)}, \ n \ge 1.$$

Here, $\{u_{n(j)}\}_{n=1}^{\infty}$ is a bounded sequence in C for each $j = 1, 2, \ldots, r$, and $\{a_{n(j)}\}_{n=1}^{\infty}$, $\{b_{n(j)}\}_{n=1}^{\infty}$ and $\{c_{n(j)}\}_{n=1}^{\infty}$ are three sequences in [0,1] satisfying the condition

(1.5)
$$a_{n(j)} + b_{n(j)} + c_{n(j)} = 1$$

for all $n \in \mathbb{N}$ and each $j = 1, 2, \ldots, r$. This scheme contains the modified Mann and Ishikawa iteration methods with errors in the sense of [12] (cf. [7]): for r = 1, our scheme reduces to a Mann-Xu type iteration and for r = 2, $T_1 = T_2$ to an Ishikawa-Xu type iteration.

Using the iteration scheme (1.4), Huang [4, Theorem 2.1] obtained the following result. Let C be a nonempty closed convex subset of a uniformly convex Banach space E and $T_j: C \to C$ an asymptotically nonexpansive mapping with a sequence $\{k_{n(j)}\}_{n=1}^{\infty}$ for each $j = 1, 2, \ldots, r$ such that $\sum_{n=1}^{\infty} (k_n - 1) < \infty$, where $k_n := \max_{1 \leq j \leq r} \{k_{n(j)}\} \ge 1 \text{ and } \bigcap_{j=1}^r F(T_j) \neq \emptyset.$ Let $\{u_{n(j)}\}_{n=1}^\infty$ be a bounded sequence in C for each j = 1, 2, ..., r and let $\{a_{n(j)}\}_{n=1}^{\infty}, \{b_{n(j)}\}_{n=1}^{\infty}$ and $\{c_{n(j)}\}_{n=1}^{\infty}$ be three sequences in [0, 1] satisfying the following conditions:

- (i) $a_{n(j)} + b_{n(j)} + c_{n(j)} = 1$ for all $n \in \mathbb{N}$ and each j = 1, 2, ..., r;
- (ii) $\sum_{n=1}^{\infty} c_{n(j)} < \infty$ for each j = 1, 2, ..., r; (iii) $0 < a \leq \alpha_{n(j)} \leq b < 1$ for all $n \in \mathbb{N}$, each j = 1, 2, ..., r, and some constants a, b, where $\alpha_{n(j)} := b_{n(j)} + c_{n(j)}$.

Suppose that $\{x_n\}$ is given by (1.4). Then $\lim_{n\to\infty} ||T_jx_n - x_n|| = 0$ for each $j = 1, 2, \ldots, r$. So Huang extended [10, Lemma 1.5] and [9, Theorem 1].

In this paper, we first consider the behaviour of an iteration scheme (see Theorem 2.1 below) which improves [4, Theorem 2.1]. Then we generalize [6, Theorem 2], [2, Theorem 1.2], [10, Theorem 2.2 and 2.4], and [9, Theorem 2 and 3].

In the sequel, we shall need the following results.

Lemma 1.1 (see [11, Lemma 1] and [8, Lemma 1]). Let $\{\varrho_n\}_{n=1}^{\infty}$ and $\{\sigma_n\}_{n=1}^{\infty}$ be sequences of nonnegative real numbers satisfying the inequality

(1.6)
$$\varrho_{n+1} \leqslant \varrho_n + \sigma_n, \quad n \ge 1.$$

If $\sum_{n=1}^{\infty} \sigma_n < \infty$, then $\lim_{n \to \infty} \rho_n$ exists. In particular, if $\{\rho_n\}_{n=1}^{\infty}$ has a subsequence which converges strongly to zero, then $\lim_{n \to \infty} \rho_n = 0$.

Lemma 1.2 (see [10, Lemma 1.3]). Let $\{x_n\}_{n=1}^{\infty}$ and $\{y_n\}_{n=1}^{\infty}$ be sequences in a uniformly convex Banach space E and let $\{t_n\}_{n=1}^{\infty}$ be a sequence of real numbers such that $0 < a \leq t_n \leq b < 1$ for all $n \in \mathbb{N}$. Suppose that $\lim_{n \to \infty} ||t_n x_n + (1 - t_n) y_n|| = \varepsilon$ exists. If $\limsup_{n \to \infty} ||x_n|| \leq \varepsilon$ and $\limsup_{n \to \infty} ||y_n|| \leq \varepsilon$, then $\lim_{n \to \infty} ||x_n - y_n|| = 0$.

2. Main results

We now prove the following results.

Theorem 2.1. Let *C* be a nonempty closed convex subset of a uniformly convex Banach space *E*. Let T_1, T_2, \ldots, T_r be asymptotically nonexpansive mappings in the intermediate sense of *C* into itself such that $\bigcap_{j=1}^r F(T_j) \neq \emptyset$. Put

(2.1)
$$d_n = \max\left\{\max_{1 \le j \le r} \sup_{x,y \in C} (\|T_j^n x - T_j^n y\| - \|x - y\|), 0\right\}$$

so that $\sum_{n=1}^{\infty} d_n < \infty$. Let $\{u_{n(j)}\}_{n=1}^{\infty}$ be a bounded sequence in C for each $j = 1, 2, \ldots, r$ and let $\{a_{n(j)}\}_{n=1}^{\infty}$, $\{b_{n(j)}\}_{n=1}^{\infty}$ and $\{c_{n(j)}\}_{n=1}^{\infty}$ be three sequences in [0, 1] satisfying the following conditions:

(i)
$$a_{n(j)} + b_{n(j)} + c_{n(j)} = 1$$
 for all $n \in \mathbb{N}$ and each $j = 1, 2, ..., r$;
(ii) $\sum_{n=1}^{\infty} c_{n(j)} < \infty$ for each $j = 1, 2, ..., r$;

(iii) $0 < a \leq b_{n(j)} \leq b < 1$ for all $n \in \mathbb{N}$, each $j = 1, 2, \ldots, r$ and some constants $a, b \in (0, 1)$.

Suppose that $\{x_n\}_{n=1}^{\infty}$ is given by (1.4). Then $\lim_{n\to\infty} ||T_jx_n - x_n|| = 0$ for each $j = 1, 2, \ldots, r$. Moreover, if $\{x_n\}$ has a subsequence which converges strongly to a point z, then $\{x_n\}$ converges strongly to $z \in \bigcap_{j=1}^r F(T_j)$.

Proof. Let $p \in \bigcap_{j=1}^{r} F(T_j)$. Since $\{u_{n(j)}\}_{n=1}^{\infty}$ is bounded for each $j = 1, 2, \ldots, r$, there exists a constant M > 0 such that

$$\sup_{n\in\mathbb{N}}\{\|u_{n(j)}-p\|\colon j=1,2,\ldots,r\}\leqslant M.$$

Then we have

$$(2.2) ||x_{n+1} - p|| = ||U_{n(r)}x_n - p|| = ||a_{n(r)}x_n + b_{n(r)}T_r^n U_{n(r-1)}x_n + c_{n(r)}u_{n(r)} - p|| \leq a_{n(r)}||x_n - p|| + b_{n(r)}||T_r^n U_{n(r-1)}x_n - p|| + c_{n(r)}||u_{n(r)} - p|| \leq (1 - b_{n(r)})||x_n - p|| + b_{n(r)}||U_{n(r-1)}x_n - p|| + b_{n(r)}d_n + c_{n(r)}M \vdots \leq (1 - b_{n(r)}b_{n(r-1)} \dots b_{n(1)})||x_n - p|| + b_{n(r)}b_{n(r-1)} \dots b_{n(1)}||U_{n(0)}x_n - p|| + (b_{n(r)} + b_{n(r)}b_{n(r-1)} + \dots + b_{n(r)}b_{n(r-1)} \dots b_{n(1)})d_n + (c_{n(r)} + b_{n(r)}c_{n(r-1)} + \dots + b_{n(r)}b_{n(r-1)} \dots b_{n(2)}c_{n(1)})M \leq ||x_n - p|| + rd_n + M \sum_{j=1}^r c_{n(j)}.$$

Since $\sum_{n=1}^{\infty} d_n < \infty$ and $\sum_{n=1}^{\infty} \sum_{j=1}^{r} c_{n(j)} < \infty$, thus, by Lemma 1.1, we conclude that $\lim_{n \to \infty} \|x_n - p\|$ exists. Put $\varepsilon = \lim_{n \to \infty} \|x_n - p\|$ and consider a fixed j with $1 \leq j \leq r-1$. Then we obtain

$$||U_{n(j)}x_n - p|| \leq ||x_n - p|| + jd_n + M \sum_{i=1}^{j} c_{n(i)},$$

and hence

(2.3)
$$\limsup_{n \to \infty} \|U_{n(j)}x_n - p\| \leq \varepsilon.$$

1058

Further, since

$$\begin{aligned} \|x_{n+1} - p\| &\leq (1 - b_{n(r)}b_{n(r-1)} \dots b_{n(j+1)}) \|x_n - p\| \\ &+ b_{n(r)}b_{n(r-1)} \dots b_{n(j+1)} \|U_{n(j)}x_n - p\| \\ &+ (r-j)d_n + M\sum_{i=1}^{r-j} c_{n(i)}, \end{aligned}$$

we have

$$\begin{aligned} \|x_n - p\| &\leqslant \|U_{n(j)}x_n - p\| + \frac{\|x_n - p\| - \|x_{n+1} - p\| + (r-j)d_n + M\sum_{i=1}^{r-j} c_{n(i)}}{b_{n(r)}b_{n(r-1)}\dots b_{n(j+1)}} \\ &\leqslant \|U_{n(j)}x_n - p\| + \frac{\|x_n - p\| - \|x_{n+1} - p\| + (r-j)d_n + M\sum_{i=1}^{r-j} c_{n(i)}}{a^{r-j}}, \end{aligned}$$

and hence

(2.4)
$$\varepsilon \leq \liminf_{n \to \infty} \|U_{n(j)}x_n - p\|.$$

From (2.3) and (2.4) we obtain $\varepsilon = \lim_{n \to \infty} ||U_{n(j)}x_n - p||$ for each j = 1, 2, ..., r. So, we have

$$\varepsilon = \lim_{n \to \infty} \|a_{n(j)}x_n + b_{n(j)}T_j^n U_{n(j-1)}x_n + c_{n(j)}u_{n(j)} - p\|$$

=
$$\lim_{n \to \infty} \|b_{n(j)}(T_j^n U_{n(j-1)}x_n - p) + (1 - b_{n(j)}) \Big(\frac{a_{n(j)}x_n + c_{n(j)}u_{n(j)}}{1 - b_{n(j)}} - p\Big)\|.$$

Since

$$\limsup_{n \to \infty} \|T_j^n U_{n(j-1)} - p\| \leq \limsup_{n \to \infty} (\|U_{n(j-1)} x_n - p\| + d_n) = \varepsilon$$

and

$$\begin{split} \limsup_{n \to \infty} \left\| \frac{a_{n(j)}x_n + c_{n(j)}u_{n(j)}}{1 - b_{n(j)}} - p \right\| \\ &\leqslant \limsup_{n \to \infty} \left(\frac{a_{n(j)}}{1 - b_{n(j)}} \|x_n - p\| + \frac{c_{n(j)}}{1 - b_{n(j)}} \|u_{n(j)} - p\| \right) \\ &\leqslant \limsup_{n \to \infty} \left(\|x_n - p\| + \frac{M}{1 - b}c_{n(j)} \right) = \varepsilon, \end{split}$$

thus, by Lemma 1.2, we get

(2.5)
$$\lim_{n \to \infty} \left\| T_j^n U_{n(j-1)} x_n - \frac{a_{n(j)} x_n + c_{n(j)} u_{n(j)}}{1 - b_{n(j)}} \right\| = 0.$$

Let
$$N = \sup_{n \in \mathbb{N}} \{ \|u_{n(j)} - x_n\| : j = 1, 2, \dots, r \} < \infty$$
. Since
 $\left\| \frac{a_{n(j)} + c_{n(j)}u_{n(j)}}{1 - b_{n(j)}} - x_n \right\| \leq \frac{c_{n(j)}}{1 - b_{n(j)}} \|u_{n(j)} - x_n\| \leq \frac{N}{1 - b} c_{n(j)}$

and hence

(2.6)
$$\lim_{n \to \infty} \left\| \frac{a_{n(j)} x_n + c_{n(j)} u_{n(j)}}{1 - b_{n(j)}} - x_n \right\| = 0,$$

thus, from (2.5), (2.6) and the triangle inequality we obtain

(2.7)
$$\lim_{n \to \infty} \|T_j^n U_{n(j-1)} x_n - x_n\| = 0.$$

If j = 1, we have $\lim_{n \to \infty} ||T_1^n x_n - x_n|| = 0$. For any j with $2 \leq j \leq r$, from

$$\begin{aligned} \|T_{j}^{n}x_{n} - x_{n}\| &\leq \|T_{j}^{n}x_{n} - T_{j}^{n}U_{n(j-1)}x_{n}\| + \|T_{j}^{n}U_{n(j-1)}x_{n} - x_{n}\| \\ &\leq \|x_{n} - U_{n(j-1)}x_{n}\| + d_{n} + \|T_{j}^{n}U_{n(j-1)}x_{n} - x_{n}\| \\ &\leq b_{n(j-1)}\|T_{j-1}^{n}U_{n(j-2)}x_{n} - x_{n}\| + c_{n(j-1)}\|u_{n(j-1)} - x_{n}\| \\ &+ d_{n} + \|T_{j}^{n}U_{n(j-1)}x_{n} - x_{n}\| \\ &\leq b\|T_{j-1}^{n}U_{n(j-2)}x_{n} - x_{n}\| + Nc_{n(j-1)} + d_{n} + \|T_{j}^{n}U_{n(j-1)}x_{n} - x_{n}\| \end{aligned}$$

we obtain

(2.8)
$$\lim_{n \to \infty} \|T_j^n x_n - x_n\| = 0$$

Since

$$\begin{aligned} \|x_n - T_j^n x_n\| &\leq \|x_n - x_{n+1}\| + \|x_{n+1} - T_j^{n+1} x_{n+1}\| \\ &+ \|T_j^{n+1} x_{n+1} - T_j^{n+1} x_n\| + \|T_j^{n+1} x_n - T_j x_n\| \\ &\leq 2\|x_n - x_{n+1}\| + d_{n+1} + \|x_{n+1} - T_j^{n+1} x_{n+1}\| + \|T_j^{n+1} x_n - T_j x_n\| \\ &\leq 2(b\|T_n^n U_{n(r-1)} x_n - x_n\| + Nc_{n(r)}) + d_{n+1} + \|x_{n+1} - T_j^{n+1} x_{n+1}\| \\ &+ \|T_j^{n+1} x_n - T_j x_n\|, \end{aligned}$$

the uniform continuity of T_j together with (2.7), (2.8) and the relations $c_{n(r)} \to 0$ as $n \to \infty$ and $d_{n+1} \to 0$ as $n \to \infty$ yields

(2.9)
$$\lim_{n \to \infty} \|x_n - T_j x_n\| = 0$$

for each j = 1, 2, ..., r.

1060

Suppose $\{x_n\}$ has a subsequence $\{x_{n_i}\}$ such that $\lim_{i \to \infty} ||x_{n_i} - z|| = 0$. Then $z \in C$ and by the continuity of T_j , $\lim_{i \to \infty} ||T_j x_{n_i} - T_j z|| = 0$ for each j = 1, 2, ..., r. Hence, $\lim_{i \to \infty} ||x_{n_i} - T_j x_{n_i}|| = ||z - T_j z|| = 0$ for each j = 1, 2, ..., r, so that $z \in \bigcap_{j=1}^r F(T_j)$. Thus, by (2.2), we have $||x_{n+1} - z|| \leq ||x_n - z|| + rd_n + M \sum_{j=1}^r c_{n(j)}$, so that it follows from Lemma 1.1 that $\lim_{n \to \infty} ||x_n - z|| = 0$, i.e., $\{x_n\}$ converges strongly to $z \in \bigcap_{j=1}^r F(T_j)$. The proof is complete. \Box

For our next results, we shall need the following definition.

Definition. Let C be a nonempty closed subset of a Banach space E. A mapping $T: C \to C$ is said to be semi-compact, if for any bounded sequence $\{x_n\}$ in C such that $\lim_{n\to\infty} ||x_n - Tx_n|| = 0$ there exists a subsequence $\{x_{n_i}\} \subset \{x_n\}$ such that $\lim_{i\to\infty} x_{n_i} = x \in C$.

Theorem 2.2. Under the hypotheses of Theorem 2.1, assume that one of the following conditions is satisfied:

- (1) C is compact;
- (2) T_1 is semi-compact;
- (3) T_1^m is compact for some $m \in \mathbb{N}$;
- (4) there exists a nonempty compact convex subset K of E and some $\alpha \in (0,1)$ such that

$$d(T_j x, K) \leq \alpha d(x, K)$$

for all $x \in C$ and each $j = 1, 2, \ldots, r$.

Then $\{x_n\}$ converges strongly to a common fixed point of $\{T_j\}_{j=1}^r$.

Proof of Theorem 2.2. Proof of (1) and (2): They follows immediately from Theorem 2.1.

Proof of (3): Using the uniform continuity of T_1 and $\lim_{n\to\infty} ||T_1x_n - x_n|| = 0$, we can show that for each $l \ge 1$

(2.10)
$$\lim_{n \to \infty} \|T_1^l x_n - x_n\| = 0.$$

Since $\{x_n\}$ is bounded and T_1^m is compact, $\{T_1^m x_n\}_{n=1}^{\infty}$ has a convergent subsequence $\{T_1^m x_{n_i}\}_{i=1}^{\infty}$. Suppose $\lim_{i\to\infty} T_1^m x_{n_i} = z$. Then the inequality

(2.11)
$$||x_{n_i} - z|| \leq ||x_{n_i} - T_1^m x_{n_i}|| + ||T_1^m x_{n_i} - z||$$

yields $\lim_{i\to\infty} ||x_{n_i}-z|| = 0$, which implies by Theorem 2.1 that $\{x_n\}$ converges strongly to $z \in \bigcap_{j=1}^r F(T_j)$.

Proof of (4): As in the proof of [4, Theorem 2.10] by using Theorem 2.1, $\{x_n\}$ converges strongly to a common fixed point of $\{T_j\}_{j=1}^r$.

Since every asymptotically nonexpansive mapping is uniformly continuous, we have the following result:

Corollary 2.3. Let C be a nonempty bounded closed convex subset of a uniformly convex Banach space E and $T_j: C \to C$ an asymptotically nonexpansive mapping with a sequence $\{k_{n(j)}\}_{n=1}^{\infty}$ for each j = 1, 2, ..., r such that $\sum_{n=1}^{\infty} (k_n - 1) < \infty$, where $k_n := \max_{1 \leq j \leq r} \{k_{n(j)}\} \ge 1$ and $\bigcap_{j=1}^r F(T_j) \neq \emptyset$. Let $\{u_{n(j)}\}, \{a_{n(j)}\}, \{b_{n(j)}\}, \{c_{n(j)}\}\}$ and $\{x_n\}$ be as in Theorem 2.1. Assume that one of the following conditions is satisfied: (1) C is compact;

- (2) T_1 is semi-compact;
- (3) T_1^m is compact for some $m \in \mathbb{N}$;
- (4) there exists a nonempty compact convex subset K of E and some $\alpha \in (0,1)$ such that

$$d(T_i x, K) \leqslant \alpha d(x, K)$$

for all $x \in C$ and each $j = 1, 2, \ldots, r$.

Then $\{x_n\}$ converges strongly to a common fixed point of $\{T_j\}_{j=1}^r$.

Proof. Observe that

$$\sum_{n=1}^{\infty} d_n \leqslant \sum_{n=1}^{\infty} (k_n - 1) \operatorname{diam}(C) < \infty,$$

where diam $(C) = \sup_{x,y \in C} ||x - y|| < \infty$. The conclusion now follows easily from Theorem 2.2.

Remark 2.4. Corollary 2.3 extends the corresponding results of [6, Theorem 2], [2, Theorem 1.2], [10, Theorems 2.2 and 2.4], and [9, Theorems 2 and 3].

References

- R. E. Bruck, T. Kuczumow and S. Reich: Convergence of iterates of asymptotically nonexpansive mappings in Banach spaces with the uniform Opial property. Colloq. Math. 65 (1993), 169–179.
- [2] S. S. Chang: On the approximation problem of fixed point for asymptotically nonexpansive mappings. Indian J. Pure Appl. Math. 32 (2001), 1297–1307.
- [3] K. Goebel and W. A. Kirk: A fixed point theorem for asymptotically nonexpansive mappings. Proc. Amer. Math. Soc. 35 (1972), 171–174.
- [4] J.-C. Huang: Convergence theorems of the sequence of iterates for a finite family of asymptotically nonexpansive mappings. Internat. J. Math. Sci. 27 (2001), 653–662.
- [5] W. A. Kirk: Fixed point theorems for non-Lipschitzian mappings of asymptotically nonexpansive type. Israel J. Math. 17 (1974), 339–346.
- [6] S. H. Khan and W. Takahashi: Approximating common fixed points of two asymptotically nonexpansive mappings. Math. Japon. 53 (2001), 143–148.
- [7] M. O. Osilike and S. C. Aniagbosor: Weak and strong convergence theorems for fixed points of asymptotically nonexpansive mappings. Math. Comput. Modelling 32 (2000), 1181–1191.
- [8] L. Qihou: Convergence theorems of the sequence of iterates for asymptotically demicontractive and hemicontractive mappings. Nonlinear Anal. 26 (1996), 1835–1842.
- B. E. Rhoades: Fixed point iteration for certain nonlinear mappings. J. Math. Anal. Appl. 183 (1994), 118–120.
- [10] J. Schu: Weak and strong convergence to fixed points of asymptotically nonexpansive mappings. Bull. Austral. Math. Soc. 43 (1991), 153–159.
- [11] K. K. Tan and H. K. Xu: Approximating fixed points of nonexpansive mappings by the Ishikawa iteration process. J. Math. Anal. Appl. 178 (1993), 301–308.
- [12] Y. Xu: Ishikawa and Mann iterative processes with errors for nonlinear strongly accretive operator equations. J. Math. Anal. Appl. 224 (1998), 91–101.

Author's address: Department of General Education, Kuang Wu Institute of Technology, Peito, Taipei, Taiwan, 11271, R.O.C., e-mail: juichi@kwit.edu.tw.